Network scientists

AS (January 1, 1999)

Caenorhabditis elegans

10° 10 10
* Full network * Fullnetwork ¥ Full network

o X ‘Spanning tree o< A Convex skeleton o O Convex skeleton
2 [T Convex skeleton 2 — Power-law-Kk2" g 10 — Power-law-k2%
8 10 ¥ g 10 g
3 0% H H
2 2 2
5 9, 5 B 10
e ) % e ) °
S 10 S 10 S
3 e 3 3 107
g g * g
= 00 = = DICk Ok

107! 10°l 107"

10° 10’ 10° 10° 10" 10° 10° 10° 10’ 10° 10
node degree k node degree k node degree k
Network scientists AS (January 1, 1999) Caenorhabditis elegans
o 0. 0.
: Full network B Fullnetwore Full network
N Spanning tree > Spanning tree = @ Spanning tree
o o2 & Convex skeleton o 04 A Convex skeleton & O Convex skeleton
£ 1. 3
g o1s g o 8
S 5 5
g 0.1 5 0.2 g
8 0.0 o(’)“"‘ 8 o1 8
o o

6
node

8 10 12 14
distance d

6 8 10
node distance d




